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Let u, v, and w be vectors in R”, and let ¢ be a scalar. Then
a. u-v =v-u

b. (W+v)-w=u-w+v-w

c. (cu)sv=c(u-v) =u-(cv)

d. uru>0, andu-u=_0ifandonlyifu=20

An inner product on a vector space V is a function that, to each pair of vectors

u and v in V', associates a real number (u, v) and satisfies the following axioms,
for all u, v,and w in V' and all scalars c:

u,v) = (v,u)
u+v,w) = (uw)+ (v,w)

cu,v) = c(u,v)

1. (
2. {
3. (
4. (u,u) >0 and (uw,u)=0ifandonlyifu=20

A vector space with an inner product is called an inner product space.



